[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

9] F 1%} 4] 0
x x x X
& g g ]
£ £, £ £
g 0F, 2 2
B 3 8 8
3 s
10°F 3
10°F
10%F
o <} o )
© I © T
4 04 4 4
92 4 6 8 10 12 14 16 18 20 %0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x?
[ M=k FH=BOoTgat -
[(NoTresoraskve] —— @évﬁz q.granqizg‘stt_ﬂ-éﬂmﬁd-%a_%gﬂgsw_13_2_><_2023-06—05-1100/src/DQM_TT_man-DQM_mud_updatedmod-u? LT|
(%] 1%} 2] 0
S S S S
S 5 S . 5 Il IS
£ 10°F 5 10°F B £
s ] o
= ] ©
" v 4 ' = 2
10°E 10°E =
A, =3
. L) o
10°E-# 10°E
¥ i
10?
A
o o )
© I ©
& 1sf o 4
o

o,




	Contents
	Page 1


